C8461 RECUMBENT

P/N: 49025-101

SUBREV : K

DRAWN BY : MAH

DATE : 05.20.09

SHEET 1 OF 8




SUBREV

NO.

DWG.

49025-101

8




NOTE. BOTH THE SEC EAVE AND AXLE
ARE INCLUDED IN KIT BUBBLE #96

PAGE OF DWG. NO. SUBREV
3 8 49025-101



https://www.gympart.com/itemdesc.aspx?ic=PRB45449-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB58025-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB47435-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

49025-101

8




GGGGGGGGGGG

49025-101

SSSSSS




49025-101

8




PAGE OF
7

8

DWG. NO.
49025-101

SUBREV




PAGE OF DWG. NO. SUBREV
8 8 49025-101 K




Part Number

45402-108

44905-042

45475-211

44411-103
47383-111

A D
a1 o
g b
[
Ny P
el
o o
=

w w s N
™ 00 W w
o oo =
5 o ~
e 11 KR
I =
= oo o
U1 O ® =

N
4]
[
N
|
H
o
=

TAKNO025-100

42714-102

42730-101

MGCNO013-025

47342-040

PMTNO016-050

40056-101

CDNNO019-075
KBANNO019-013

N
o1
ﬂ
B
B
H
o
=

300104-101

49308-101

45510-102

50999-104

45842-101
46983-101
12258-040

C846i (upright)(serial code ATPY, AXFY, AYXY)

Description
WELDMENT, FRAME, 8421/8461 UPRIGHT,
PCA,DISPLAY,T2
ASSEMBLY, DISPLAY, LABEL, C846I-T2,
ASSY,CBL,MOD,8P8C,1-1,SILVER,48"
ASSY,CBL,MOD,8P8C,1-1,SILVER,42"
ASSY, PCA&SW,BIKE,SELF PWR,LWR
CPU, PGMD, BIKE, SELF POWER 3-PHASE
COUPLER,MOD,8PS8C,INLINE,SNAP-IN
TOUCHSENSOR SHIELD,23-KEY,T2/C2/T3/
LABEL, ACCESSORY TRAY, EN, C846I
WELDMENT, DISPLAY SUPPORT, C842|/C8
SWEAT BIB
BACKPLATE, DISPLAY, COMMERCIAL ,STO
WIRE FORM,PLASTIC,COMMERCIAL
ASSY BOARD, CHR, CONTACT PRIORITY/
GRIP,HANDLEBAR,10.25" LONG
GRIP,PLASTISOL, 11.5LG
SEAT,8461/8421 UPRIGHT
LABEL, UPRIGHT, SEAT POST POSITION
LABEL, UPRIGHT, SEAT POST POSITION,
SCREW,BTHD,1/4-20X1,BLK ZN
HHHR SENSOR,TOP
HHHR SENSOR,BOTTOM
SCREW, BTHD, 8-32X.75,SS
PLUG, HHHR, HANDLE BAR END
O-RING, ROUND, 1.25ID X .139
SCREW,MCH,6-32X1/4,PANHD,PHIL,
ASSY, CABLE, HHHR PCA TO GRIP, W/SH
SCREW,TCS,#8X1/2,PHIL,BLK SHARPERIZ
ASSY,CBL,HHHR TO DISPLAY,HP/FERRITE
COVER, HANDLEBARS, 846 UPRIGHT
SCREW, SKHD,10-32 X 3/4 ,SS,LK
NUT,HEX,10-32,STAINLESS
ASSY,CRANK, INPUT,INTEGRATED BEARIN
CRANK COVER, SELF-POWERED BIKE
ASSEMBLY,SP,GENERATOR,BIKE
ASSY, SEAT POST WELDMENT WITH EMBOS
ASSY, SEAT POST WELDMENT WITH EMBOS
ASSEMBLY, COVER W/LABELS,BIKE,LEFT,
ASSEMBLY, COVER W/LABELS,BIKE,RIGHT
COVER,TOP, BIKE, UPRIGHT,STONE GRAY
BOOT, SEAT POST
KIT,SEAT POST ADJUST PIN
PAD,SEAT POST,ADJUST PIN
ASSY, LOCKRING, SELF-POWERED BIKE
BRACKET, BATTERY, SELF POWERED BIKE
BATTERY,SLA,12V,4AH,.187 TABS
BRACKET,BOARD, SELF POWERED, BIKE

Bubble
Number


https://www.gympart.com/itemdesc.aspx?ic=PRX10115-113&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX11415-102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB12258-040&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1031&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB300104-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1018&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB38649-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB40056-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX42713-102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX42714-102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX42730-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX43329-102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX43579-108&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX44411-103&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB44905-048&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=P5T45435-406RE&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=P5T45435-406E&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=P5T45435-406R&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45436-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45436-101RE&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45436-101R&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1067&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45439-104&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45475-211&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR1042&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45513-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1030&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45525-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45747-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45842-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB48213-102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB48213-102Re&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB47442-111&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB48215-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB48215-101RE&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB49308-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB49308-102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX49341-013&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB50999-104&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRXMGCN013-025&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRXPMTN016-050&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRXTCNN016-075&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRBTCNN016-075&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

N
2]
<]
N
|
H
o
=

H
N
o
&
|
H
o
@

CATNO025-075

PADCNO019-038
BACNO31-175
WBANNO034-013

12414-101

N
o1
ﬂ
B
|
H
o
=

HJCNO031-200

MGCNO016-025
PGTNO016-050
PMTNO016-088

EReR=
© © O
SEEEX
SR RZ
PR RrEZ
OO NOOo
NEOaN B
B
o
o
=

@
@
o
a1
B
H
o
=

10231-128
HCTNO50-500
12577-101

MGCNO016-038

WBZN050-008
47718-101
45716-101

CS KIT, SECONDARY SHEAVE/AXLE 84X/8
SHEAVE, SECONDARY AXLE
INTEGRATED ACORN NUT, BEARING,BALL,
PEDAL KIT, RIGHT AND LEFT

STRAP, PEDAL,846/842

BUSHING, SNAP (SB-750-625)
PULLEY,IDLER,FLANGED

NUT, CEASE, CRANK

BELT, DRIVE, 420J10 POLY V

RJ-45 TELEPHONE JACK PLUG

BELT, DRIVE, POLY V 260J8

FOOT, ADJUSTING,NO LOGO

26MM THRUST BEARING IGUS,LTM-2644-0
COVER, ADJUSTABLE FOOT, 842/846
SCREW,SKHD,1/4-20 X 3/4,BLK SHARPER
SCREW,BTHD,1/4-20X3/4,BLK SHARPERIZ
SCREW,S/T,#10-32X3/8, WSHHXHD,ZN TRI
BOLT, CARRIAGE, 5/16-18 X 1.75
WASHER,FLAT,ID=11/32,0D3/4, TH=.125,
SPCR,SELFRETAIN,NYLN,#8(M-4),3/8"
CABLE CLAMP INSERT,SNAP IN
ASSY,CBL,2C,18AWG,QK DISC,40"
WHEEL,846/842

RING, RETAINING, 25MM EXTERNAL
RING, RETAINING, INTERNAL (52MM)
SCREW,HEXHD,5/16-18X.75LG,GR8,YZN
SCREW,HEX,5/16-18X2.0 ,ZINC,FULLY T
LOCKNUT,STARWASHER,5/16-18,1/2
SCREW,MCH,8-32X1/4,PANHD,PHIL,
SCREW,S/T,#8X1/2,TRS,PHIL,BLK SHARP
SCREW,TCS,#8X7/8,PHIL,BLK SHARPERIZ
SCREW,SHLD,3/8 X 1/2 ,HEXSC,BLK SH
WASHER, WAVE, SSB-0205

KNOB HANDLE,846/842, (DEEP BLUE)
SPRING,COMP,.716 OD X .75 L X .042
CRANK, LH, SP BIKE,PRESS FIT

CRANK, RH, SP BIKE,PRESS FIT

SCREW, CUSTOM, CRANK, M8 X 22L, SP
CAP, SEAT POST, C846U (MACHINED), Tl
BEARING,SEAT POST
SPRING,COMPRESSION,.420 X 1.75 X .0
SCREW,HEX,GR5,1/2-13X5,BLK SHARPERI
MULTI-THREAD U-NUT 1/4-20 ITW CIP
SCREW,TCS,#8X1/2,PHIL,BLK SHARPERIZ
WASHER, FLT, #10X.500X.049,ZN
ASSY,CBL,FFC,12COND,28AWG,2.2"
SCREW,MCH,8-32X3/8,PANHD,PHIL,
SCREW,BTHD,5/16-18X1-3/4,BLK SHARPE
WASHER, FLAT,1/2,.086 BLK CVS

HOLE PLUG, PLASTIC .875 X.03-.08
KIT,HARDWARE,C8461/C842I

91
93
94
95
95.01
97
98
99
100
101
102
103
104
105
106
107
108
111
112
113
114
115
116
117
119
120
121
122
123
125
126
127
128
129
130
131
132
135
136
137
138
139
140
141
142
154
156
160
176
190
200


https://www.gympart.com/itemdesc.aspx?ic=PRB1062&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB10217-136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR17690&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB10217-137&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1040&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB10231-125&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1033&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB12089-103&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB12264-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1021&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRM12414-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB12577-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1032&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX303093-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX39916-102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1012&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LC9500.042&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45441-105&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45445-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45450-105&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45514-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=P6T45696-022&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRX45742-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45743-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45744-102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45838-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB46824-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB6006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB46825-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB49020-111&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB49020-112&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB58017-102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB45449-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB58025-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB1006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB47435-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRBABHN025-002&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR17765&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRBADHN052-002&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRBHEWN031-075&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=P6TKGCN031-027&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR1131&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRXPMTN016-050&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRM1036&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRXRATN038-050&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRBTATN031-175&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRXTFTN025-075&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRCWACN019-005&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRTWACN019-005&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRBWAKNN044-004&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRXWBANN034-013&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1637&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

58022-102 CRANKARM REPLACEMENT KIT 250
48821-101 LITERATURE KIT, C8461 UPRIGHT 999


https://www.gympart.com/itemdesc.aspx?ic=PRB58022-102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PRB58022-101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

	C846i_ATPY, AXFY, AYXY (Upright)_Diagram
	C846i_ATPY, AXFY, AYXY (Upright)_Parts List

